

Please solve in your spiral

$$4 + (-7) = -3$$

$$-5 + 9 = 4$$

$$-3 + (-10) = -13$$

$$4 + -7 = -3$$

CHANGE TO ADDITION

$$\underline{-5} - 3 = -8 \leftarrow \underline{-5} + \underline{(-3)}$$

OPPOSITE

$$\underline{4} - 9 = -5 \leftarrow \underline{4} + \underline{(-9)}$$

$$\underline{-6} - \underline{(-8)} = 2 \leftarrow \underline{-6} + 8$$

$$\underline{-4} - \underline{(-3)} = -1 \leftarrow \underline{-4} + 3$$

$$\underline{7} - \underline{(-5)} = 12 \leftarrow \underline{7} + 5$$

$$\underline{-6} - \underline{(-8)} = 2$$

$$-4 - \underline{(-3)} = -1$$

